D ) W /W T ¥ oY I [ J F Y@ Item Order Part # Description List Price
— mu: °=" ':b 7KIT | 103806-15 Mounting Plate/Strike Locator Kit, Narrow Stile, 96, BP2 $75.60
100696-1 Mounting Plate, BP2, Narrow Stile $28.08

P a rtS L i St Item Order Part Description List 7a 100699 Mounting Plate, BP8 or 03 Trim, Narrow Stile $29.16
# Price 7b 101511-1 Strike Locator $29.16

V 1 101463-9 gg:;;esrcase, RHR, Narrow Stile, 50 $353.16 7c 100720 Centercase Locator $7.88
50 / V5 1 101844-1 Endcap bracket w/o battery holder $10.21
r 10740311 gjﬂfs”""se’ LR, Narrow Stie, 50 §353.16 8 101844 Endcap bracket w/ battery holder $13.61

106281 Backplate Extrusion, 36", Silver $54.00 9 101822 Endcap $9.07

106285 Backplate Extrusion, 48", Silver $88.56 10KIT 101803-1 Fillerplate, Subassembly, S&R, Hex Dogging, HD, V40 series, 36" $68.04

2 106289 Backplate Extrusion, 36", Black $58.32 s  pO18121 Fillerplate, HD, 36" $19.28

106290 Backplate Extrusion, 48", Black $115.56 101812-2 Fillerplate, HD, 48" $21.55

103065-1 Pushpad Subassembly, 36" $101.52 10b 100164 Spacer, dogging bracket $2.94

8 103065-2 Pushpad Subassembly, 48" $139.32 10c 102216-4 Die cast dogging assembly, Hex Dogging (HD) $43.20

105417-1 Pushpad Wrap, 36", Red (English $26.00 10d PP-5802-124 Screw, mach, 10-32 x 1-1/2" PFH $0.44

TOP ROD ONLY (TRO) INSTALLATION text) 11KIT 102195-1 Fillerplate, Subassembly, S&R, Cylinder Dogging, CD, 36" $68.04

F'F;EEgﬁTég LF;% gf;’g%ﬁ;g\‘s 4 105417-2 ?:;tr)}pad Wrap, 48", Red (English $26.00 s 102194-1 Fillerplate, CD, 36" $32.40

105417-3 | Pushpad Wrap, 36", Black $26.00 102194-2 Fillerplate, CD, 48" $34.56

- 105417-4 | Pushpad Wrap, 48", Black $26.00 Tb | 100164 Spacer, dogging bracket $2.94

5 101805-3 Centercase Cover $36.72 11c 102216-3 Die cast dogging assembly, CD $18.14

@ 5 103547 Centercase Cover Cap (for TRO $34.56 1d PP-5802-124 Screw, m?Ch’ 10-32 x 1-1/2" PFH $0.44

device only) 11e 102196 Bracket, fillerplate, CD, V50 $7.94

a 11f 100938 Spacer, dogging bracket, .060" thick $1.47

OR 12 100450 Hex Key (for Hex Dogging) $10.00

13 100783 Cylinder Hex Nut $9.00

14KIT 100855-4 96 Strike Kit $45.00

14a 101067 Strike Shim, Narrow $7.94

14b 100330 Strike, Non-roller, Narrow $33.48

15KIT 104071 Top Latch Assembly $331.56

) 15a 101464 Top Latch Assembly $292.68

| 15b 103545 Top Latch Cover $14.74

[ @ 104073-1 Rod Guide Kit (1 guide with hardware) $71.28

! 16 104073-2 Rod guide kit two $14.74

: 0= 104073-3 Rod Guide Kit (3 guides with hardware) $22.68

) 17 101574-1 Bolt, 1/4-20 x 1" $0.37

R 18 101574-2 1/4-20 Hex Bolt, 2" long $0.67

| 104051-3 Top rod, SS, 7' $79.92

| 19 104051-4 Top rod, SS, 8' $79.92

l 103073-1 Top Rod (10" application) $293.76

: 20 101825-1 Narrow Stile Insert $19.28

| 21KIT 104070 Kit, Bottom Bracket/Cover $83.16

) 21a 103555 Bottom Bolt Bracket Subassembly $62.64

PARTS AT LEET ARE USED IN ADDITION 21b 103652-1 Cover, Bottom Latch $12.47

T T P IO AR VE e 22KIT | 104072 Kit, Bottom Bolt $111.24

22a 103551 Bolt clip $5.67

22b 103533 Pin, Bottom Bolt $6.80

22¢ 103536-1 Bottom bolt, HURRICANE $45.36

22d 103566 Strike, Bottom, with mounting hardware $57.24

Effective July 18, 2025 23 103544 Bottom rod $52.92

Modified July 24, 2025



